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1. Evaluate 2x -~y for the given replacement values. Z"‘/“ '7 = /{-
=
x=2andy= -8 2(6) ’-('-5) = 2
2X—y= 9‘ —f 5 = %
Answer: 12 a
i N ———
2. Simplify. ¥ FoeF ~1] =
B+4.9-11 ,5,_(_ ;G"ll -
8+4-9-11= &y~ =
Answer: 33 (ﬁ?\
i
3. Simplify. F(~/1) ":4[2( ~§) 3¢5 )j = B
8(-12)+{2(-8)-3-5 L
(=12)+2(~8) = 3(~5] 3(511)-%[-/61'/5';(—
The answer is r I —
— JC1) = [~ = |
Answer 96 —q 6 ._g_ E,.. [7 =
4. Evaluate the following expression for x= -3 and y = 4. /Y é__ 7 \
x2 - y .

2 €3)°— (1) = -
e “es) -0 </

5. Solve. Check your solution.

4—7f~f
d-7=-5
The solution is d = ; é’%ﬂ/ e We o

Answer: 2 - ’2

_'_\_\_‘_‘_‘—|_

6. Solve.

=-4

|3

The solution is n =] I

——HE T
Answer: - 32

—

fol43

—
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7. Simplify the expression by combining like terms. 3 { ~/ U X c
3x = 10x

Answer. - 7x

8. Multiply. | _ 675 .J’—f—z_,)_-:_

-6(3s +2)

Answer. - 18s-12

9. Slmp_l;y;; ex;;ss.i;:__ 9[_7_:_ Z_ 55/F 7 )v/.-f 7:- e SR
4y-2(y-3)+4 cfjf__zj +¢ T; 3

dy-2(y-3)+a= | s )
Y F/o - |
Answer: 2y + 10 e
e P ————
&/ e

10. i 1l il Gl
Find the perimeter of the figure. ""‘r}ir t\ Jafeet / '! ’ﬂf('f D‘fc ‘f/—-

..J
@ G feet @ feet E-"/
/

P G’—f 3a-+ 34+r3a +$‘~,cg&

/T/T&+D

6a leet_

The perimeter is ‘ feet. {Simplify your answer.)

Answer. 15a+ 18

s

1. Find the perimeter of the figure. 7w Each side: = '—5’( Tt/ J

—8gx+13 /: A/
! inches ,ﬁ—\
/e S(—Fx+113)
The perimeter is inches. (Simplify your answer.)

T —SOKr G5
Answer: - 40x +65 / }/ //

—""-'—-—-_._____\_‘_\_‘_\_-

tof43 5/13/2019. 8:21 AM
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12 ) The area is ) sqkm.
Find t@the rectangle. e areais (| qkm

(Simplify your answer.)

@32 Al

A= Glcs)

(x—3) kilometers @ — ?G —x\
<. I

Answer: 32x-96

e
e

—

13. A decorator wishes to put a wallpaper border around a rectangular room that measurbs 22 fe t h@& Find the room's

perimeter. Use P =2L +2W, F 2 L'r‘Z N,

The perimeter of the room is feet. / .Z (30 )
— r2(2e)

Answer: 104 :

"rr -

' 14, Solve and check the solution. qé_f("z—‘;?:——v)_ _té 5)< -:) f X 7/( %ﬂ/ - j /
4(2x - 4) = 9x ._.()( /(
. ¥< —/6 T7X “(X - LG_
——— et/ = X N

Answer: - 16

——

15. Solve the equation. n; ({"‘HT) __(',3 j—-j’ [ /"*} 5;( Zy

J2. -3(x+9)-43=5-51

| ~3x =2 1-43=—%
The answer is x=‘: .-—})( 76 © — ¢ @
M & "5‘(1‘7115

\-\;

Answer. -8
” 3 X < ‘f
16. Solve the following equation. )( - /_ 3 / - (__ 6) /7_-__'__—__——-———-.

e 2 i
=5=2*-]-3|-(-6)

X
The solution is . 3
X

(Simplify your answer.)

Answer: =21

o K= [*6C
4
X

_u-'-.-'_-_"_-———-_____-_-‘
3 of 43 5/13/2019. 8:21 AM
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17. Solve the equation. X( { R 7 )(—f? -"'/ >( - Cf
8x-1=09x+8 X’(%/" 9[7&i -F/ ’:(ﬂ i d:{—

wy {2 A+ 9
§¢ <y < gwrs-2L [ -9
Answer: -9
- ol X T o
18. Solve the equation. —/ﬂ-'—Zf) = A AR - -‘}f)( _ /Z(;
-18x-20= x4 100 gy 2570~ TN /0 1‘2/ —<
e I A OIS sy V=30
Answer: — 30 ﬁ/ 6{7_/\{)( /Lu T/% — )
I ""f)C"_!'/" J o sees
19. Solve the equation. ,7((« g~ 3 ) - Zj —/ (/7-2,_7"? 2.7’27
4ly-3)=2y-12 2,7 =
E f9—(1 =2y~ \
y= v -
<f7-/é% 27—t - "z

| Answer: 0 | 9 j ZL_ // (9??5)
20. Solve the equation, 26 ___7 - (f?é_;g ) - ,__.{ .LL = 3 /
TR 267 4 r2 v / e 2L

L] 34-2%7% ¢étlvr? =

3¢ = 4€ 131 &= ~3)
Answer: — 31 36"—'*'6 - Qé._f_?/,._(;;é

2% ™\ -
21. Solve the eguation. _2(_5‘(_.[) -3 < 8¢ + 9 /OC -8C 1/2(/-(/\('7\

2(5c-1)-3=8c+9 /UC"Z.”_S - 3(7“7 2¢C - /vy
=L 1 fic —¢ < §C+9 ZC - I¥

Anewals 7 /0(+/'f'/$/¥': §5C 7 9fr 5 @
| [0c =7 /77 |

22. Solve the equation.  ¢47 s =t~ = ("
5n+55=60 # 7&5/5/~/ Co—sy~
n=| _ n =5
£ -

Answer: 1

—\;"\

D
/7

—
——
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23. During the women's basketball championship game, team A scored 6 more points than team B. Togethe B
scored a total of 160 points. How many peints did the Champion team A score during this game? X,_, 7 7
-

____ points (l/r'f‘C/-F(){) — /4 20 6-% T f(o- €

— % (

Answer: 83 IATFC 6O "_Z]_,_( — //__f&"‘/
24, Multiply. Write the product in simplest form. ﬂ;mt 5 Z, /}l 9’) 7/ { lj" 3 ; T 2—(&
3 5
=5t - 3 P .f = g(i
2 6 L G /
3 5
-1y, S
2z A
Answer __; "j_j_é.’ i E:—
. 2: ¢ 7
i - il . e ——
25. Multiply. 7 L, 3 _ Brom.. Zs5,v7 ?}If//} o
— I e —
71 3 A 3 ey _ G /Y
6271 '1"'f « —L ® -‘-*-**'“_’xgj.f “ 2(5 Z%
7 1 3 Ry 2 299 3¢ 70
Y | (Type a simplified fraction.) { (
/ =
Answer; 1 ’2" Z" 2’
8
—_— = . M —— —_— e e
L

26. Evaluate the following expression. ( 3

X %) (31
9

2
3 .
[ = 7) = (Simplify your answer. Type an integer or a fraction.)

m—,

Answer. 9
49

¢ 7

5o0fd3 5/13/2019, 8:21 AM
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('f' ﬂ//nufz 55’7,;\. Z 3.1—:._ l(_'_? o

27. Divide. - ) e '

/3 % R
W Z, 35 JEM &
/1 7 ) 3@

Select the correct choice below and fill in any answer boxes in your choice,
TN 45

7 31 . . . . L) 4 ’
O A e ~ (Type an integer or a simplified fraction.) 31

() B. The answer is undefined.

7 3 14
Answer: A, ﬁ % *3—1* (Type an integer or a simplified fraction.)
28. Perform the indicated operation.
) 2s¢l . XX
25x°  15x LY ey

21y 4%

, vt RAL PN
B uy X

21y 4%y

{Simplify your answer. Use integers ,°)' fractions for any bers in the expression.)
S5 XX

Answer: 35x

- i}b y'%

2 Find % of 28. Write the answer in simplest form. % (Zﬂ) " /r ! 12‘32223 ?/ ! é 3 r--
) fd
%of 28 is . (Simplify your answer.) % o Z’rf = 2.{_(_(7/'{ ’L&
. 7 ‘
Answer: 21 /-2-—- .w = 3,;2 . {

30. Add and simplify.

4 2 ¢
ERE) 7
4 2 Sl _
3 3 l {Type an integer or a simplified fraction.) ._-é— :
Answer: 2
3

iofd43 - e 57132019, 8:21 AM
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| I (Cepz )
31. Add and simplify. '{' ¢ - D=

,_f'
1 1 2
5 (3

[ -
+ ¢ -
U _ ) Z N L =
7 + 2 = (Type an integer or a fraction.) Y ?
2</_
Answer: i —_—
4
730
——— R | o —_—
32. Subtract. l ___C ///nu, Z/) 1’—/ 7//(/ [5..
1.8, < /7 ¢ e g
4”18 é—/j)_ ,‘:—/é < 2_@ 3@
1 AN
Z- ﬁ f {Type an integer or a fraction ) { 3 Q
9 A
Answer: 1 36 ¢~
"% T~© -
—— o~ e
R S IR ] SL
33. Simplify the complex fraction,
, £
B 7 -
— —
2 Z
7 - .
7> 7
2 g °
9
Y =! {Type an integer or a simplified fraction.}
7
Answer: 1
g9
34.
Solve the equation and check the solution. K=
5 - -
-35= :’;-x Sr 7 )(

e ;(%O ¥%f37

—-95 =X
Tof43 —_— ——_5/13/2019,8:2]1 AM
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| ' — Y = 25)
L ) 9

35. Solve the equation. ,—S{ /30) — _)é((?uj 5’/3 ) Q/

=%-4 )((6')‘: )((5‘7*—/?0
6X = $X —/7 0
X =| [ (Type an integer or a fraction. Simplify)y<our answer.) / /
o 20—KK

| x

6X —sX =
Answer: - 120 m
i —— — e tuepe s o - e
36. Solv:theequation. _qi_ (72) L ?%_(72) - ?{_Z (72) @
z 1
3872 J(8) — (1)< 10V _;‘/Z f-éj
z=| (Type an integer or a fraction. Simplify your answer.) -—-——-2 = _--G——Z

6 — 92 = |
Answer: 7 /7»—- 93-”6}4;: /"‘GY‘__

7. Soe. _’Z)(_'ﬁ_]_% (2) = ’i’(’l) :

L. [ (1)
2 X(\) t [0=
x= (Type an integer or a fraction. Simplifly your answer.)
9 -
Answer: -9 X’f/ — (// )
X1/0 1Y -
.“_"'"_--—-_._

: m_
38. Solve the equalion. % (30) + r(}:) - ﬁf(}d) u f(}a) L Q.-) ey X

.-a.+5-i+8 : Z
6 ° 5 A ( r)—f'/ﬂ)f— 4(() + 7‘0@-“:6(4%._64
as ](Type an integer or fraction. Simplify your answer.) '-I G = ? = . '
£ /0 TGCA-2 5o —la 9,
Answer: - 90 Sf(k,f./;:d/?(@'_GQ'('Z?J“/ e
e s (e tfo— =@ Ch=- .
39. Multiply.
-7.022x1000 70 ozt
-7.022x 1000=| (Type an integer or a decimal.) wd o)
7 O 2 210

Answer: -7022

dofd3 8377019 R0 AM
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=
40, Divide. O Pl q 5 C( .

93.949 100 ? 3.,9%9

100 X
93.948 _ ; /B'TL{’)

100 -_— 30\,

q/u(‘l_

Answer: 0.93949 %)

— - . %,%J -

MATHFIESTAPRETSI150MD-Alfredo Alvarez

41, Solve. 3‘3)< “"“G -
33x-69=17x+3 5 ' [ 7}( —f’j --f—Gr? /"( :‘ _ ZL
X= (Type an mteger oradec:mjal) f j} —(- 7 ?, /?__ / - 6 N /. C
3935 .7 X 72 7%
- Answer: 45 /e 6 X }( L £ o
42, Solve the propo;'ti-on. --------- - ,..3_. ~ ,Z- —
3_x S s
C 3(17) = Y (%) Cross Pt

x=[  I(Type an integer or a simplified fraction.) 3 - ¥ X
Answer: 9 %—g - Z?);( @

_-7'_'_._-_-_ e
— e ———
43. A 10-oz iced tea at a certain restaurant has 90 calories. How many calories are there in a 17-oz iced tea?
The 17-0z iced tea has calories. /O 17 /e Xz t530
70 X UX = (730
Answer: 153 -
[0(<)= Fo(17)

44, Write the fraction as a percent.

. R

25 Z <
4
T % (Simplify your answer.)

Answer: 16 / g

o (6 7D

Qafd3 \m:zl AM
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45. A stereo normally priced at $749 is on sale for 45% off. Find the discount and the sale price.

The discountis § A= - P20 |
The sale price is /4':7Yi - 75’7(, o

T py7¥T G370 discodt

Answers 337.05 G’;ﬁ—(f—/@ Sk lt-( ﬂ g ‘L,L.
411.95 !

46. A company borrows $58,000 for 2 years at a simple interest rate of 5.5%. Find the interest paid on the loan and the total

amount paid. A /?{' p KT—.
The interest paid on the loan is §,

E— [T SHovo + ST0 (.0 3'5')( z)

A= STO0 + SToos (4,/)
Answers 6,380 ﬁ - (5200 "f: {S_Zgh:} /" [(n;f_

64,380 e
— =30 it v pe

e

The total amount paid is $

47. Find the perimeter of the following figure. . —

/z/frf/,@fc, 7

The perimeteris ' (1)

(1) O sq.in.
i in.

Answers 69

(4) in.

N nfd3 5/13/2019, 8:21 AM
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48, Find theféircqueéerréje of the circle. Give the exa@rcumﬂ@ and £ 77 D

then an approximation. Use n = 3.14.
N =L
(U

The exact circumference of the circle is L
rin terms o = 3.1% ( D)
W

(Simplify your answer. Type an exact answer in terms of .

< 1)
The approximate circumference of the circle is {2) f 3 & /V ( r',

(Type an integer or a decimal rounded to the nearest hundredth.)

00
(1) O centimeters. (2) O feet.

' square centimeters. (O centimeters.
) meters.

Answers 17n
(1) centimeters.
53.38

(2} centimeters.

49. Find thecEircumference of the circle. Give the xact ) A
circumference and then an approximation. Use-m= 3.14.

The exact circumference of the circle is (1)

(Simplify your answer. Type an exact answer in terms of x.)

The approximate circumference of the circle is (&) ———— “
(Type an integer or a decimal rounded to the nearest hundredth.)

(1) O miles. (2) O miles.

() square miles. () square miles. C -’ 2 ( 3.-/ ‘f‘} 6 3 /

Answers 267

(1) miles.
81.64

{2) miles.

11 nfdl $/13/2019. 8:21 AM
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50. Find the area of the geometric figure.

The area is | (1)

(1) O yards
(O square yards
O cubic yards

Answers 3
4

(1) square yards

51. Find the area of the given geometric figure.

(Simplify your answer.)

(1) O yards.
) cubic yards.

() square yards.

Answers 35

(1) square yards.

huips://xlitemprod.pearsoncmg.com/api/v l/print/math

(%)
bt
=8

R, P
~ l',]
g
o\

>0

“

Y e

. (Simpilify your answer.) ﬁ - % B/ "[
A= 1 (% £)(3)

=1 (5r)

17 nf43

5/13/2019. 8:21 AM
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approximation. Use 3.14 as an approximation for x.

i .:_—_':--\
h diameter./Find the écirﬁg,&f the top of the pizza and an
L D=/
The exact area is | (1) i___ .

(Simplify your answer. Type an exact answer in terms of m.)

The approximate area is | l 7 S

(Type an integer or decimal rounded to two decimal places as needed.)

(1) ) inches (2) O) inches
() square inches () square inches ? /YV .
() cubic inches () cubic inches & T

Answers 64
(1) square inches
200.96
{2) square inches
—t

= W

53.
A 165-foot by 6-foot concrete wall is to be built using concrete blocks. Find the area of the wall.
The area of the wall is l )
(Type an integer or a decimal.)
(1) O sqft.
) cuft
O
Answers 99
{1) sq ft.
_____,_4-—-*'*_'““-—-_ e
T— e s~ e R, — S s
54, Find the area of the shaded region. Use the approximation 3.14 for x. ,';5, af‘il\ ,i % \_
/6 A- é L/ th'\/v( / 16 in

= o
%0~ 40e)=7 A) N/

= 15‘6‘} 3 a“,'(c\

| il 256w SQuiart
The area of the shaded region is approximately \

. __ 1 oure -
(Simplify your answer. Type an integer or a decimal.) Cff_'{_:“]arq\ — Z/C)() ? ( Cbrc t\( ]

L )
(1) O cuin. ﬁ T‘ a - -

O sqin. A= Ticr®
O in. A,: ga"f(i)L

Answers 55.04 A' < 2 (h{ ( K)( a}
(1) sgin. /—]—”’ ? {M(C(/
: @U & e

13 of 43 ‘ 5/13/2019, 8:21 AM
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55. Convert as indicated. When necessary, round to the nearest tenth of a degree. C - '?f( F -3 L)

176°F to degrees Celsius C: :4(( [7¢~3L)
o _ ) -— 'r -
176°F = i C C" ?(/yqﬂj
(Round to the nearest tenth as needed.)

Answer: 80 = _Ci ((/6)

56. Solve the equation for x. - S'((—-f—() -(f’ :"3 vl > —)’}( - ()
-5(x+6)-4= - 34 —sx — 20—~ T S —¢ 5

Select the correct choice below and, if necessary, fill in the answer box to complete your chyice. '—'—-..,\
—sx —3Yyc—3 7 /( =Q/
O A. X=

(Simplify your answer. Type an integer or a fraction.)

() B. The solution is all real numbers. — X — 3 }é 3/{ 3 ¥+5Y

() €. There is no solution. < )( —
Answer: A. x= 0 (Simplify your answer. Type an integer or a fraction,)
T i = ===
57. Solve the equation@r-y

Ix+y=9

o — &)
Answer: 9-9x <7

58. Solve the formula for the specified variable.

Q= R+Rstfc(/ C\) —_— r<

. — o

Answer: Q-R q) .
Rs

14 nfd3 51322019, 8:21 AM
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59. Solve the inequality. Graph the solution set and write it in interval notation.

2x< -6

Choose the correct graph below.

O A, it —— > () B, < {a—————————
B7654-3-2101 2345678 B-76-54-3.2-101 2345678

() C. <mimi———————)—{————> () D,

B8-7654-3-2-10123456728 8-7-6-5-4-3-2-101 23458678

() E. <Clmpmjuianjonimimimi iy () F,
8-76-5-4.3-2-1012345678 8-7-6-5-4-3.2-101 2345678

The solution to the inequality 2x< -6 is [ . 2}( ( - C

{Type your answer in interval notation.)

2R 6
Answers “Z -
o e
D. -8-7-6:54-321012345678 X< -3 (“’96/ - 3)

(-o0,-3)

60. Solve the inequality. Graph the solution set and write it in interval notation.

-7xs21

Choose the correct graph below.

O A, G ————————-> () B.

H-76-54-3-2-1012345678 8-76-54.3-2-101 2345678

O €. < ——————— () D,

H-7T-6-54-3-2-1012345678 B8-76-5-4.3-2-101 2345678

O E. <epmjenjmimjmjpjm———y () F,
8.76-5-4-32-1012345678 B-76-54-3-2-1012345678

The solution to the inequality - 7x<21 is | ! a-’] )< < ? /

(Type your answer in interval notation.)
-—

Answers B H_ cl,\v-r//..f 177 G Vh‘) e
i ——————- — —
C. B76.54-3-21012345678 7 7 AT C‘//') v
’; 3 = Gry U"i/{
i XZ-

15 of 43 —

5/13/2019. 8:21 AM
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61. Solve the inequality. 3 - Al ?}(—f/'?a “ < J{/ﬁ _gK > ﬁ

Ix-4<9x+14 3’( Ll ?)(—f’/f ‘c'_l\vv(A [,
The solution set is f (Type your answer in inferval notation.) A—/l "}\»
Y~ IX <K /6—2 i  Sedor s

Answer: (- 3,c0) - (0.)( < [‘f ,-«-"f | C‘g , 4/)

[ —

. Graph the linear equation, Ony
1 -
=2 k
y N
Use the graphing tool to graph the linear equation. 6
4
2
1 X
=y T ] T T T T A
i -8 g 4 -2 | 2 4 ] a 10
-2
~d}d
-
-8~
510
Answer: ¥ X-
10 =
. ol
6 ( T
(O Z.) 4 D
K
T T | N T T T T T
0 A 6 4 2 ) 2 4 & 8 10
.24
4
i
1
R

1A nfds 5/13/2019. 8:21 AM
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63.
Graph the linear equation. 101\y
3 85
y=-gx+3 ]
6
Use the graphing tool to graph the linear equation. 4.:
] %
do 8 6 4 2 {1 2 4 & 8 10
-2_:
-+
6]
10°
X3 X
Answer: —
Y e A -1 =
o i 2] ©
Lj ZO '
(572
-
A0 —
Y AR
7 -
— S >
«j Z
_,-f"f'-".
e 2
—
- i

17 nfd3 5/13/2019, 8:21 AM
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64,
Identify the intercepts. Identify all the x-intercepts.

{Type an ordered pair. Use a comma to separate answers
as needed.}

Identify all the y-intercepts.

H {Type an ordered pair. Use a8 comma to separate answers
as needed.)

-4
-6~
Answers (- 4,0)
(0.4}
< e

1R nfdl 5/13/2019. 8:21 AM
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65.
Plot mtercepls torgraph the equation.
Crarie D

Use the graphing tool to graph the equation. Use the
intercepts when drawing the line. If only ane intercept
exists, use it and another point to draw the line.

fiad  Y-1alty, [+/ Y il

hups://xlitemprod pearsoncmg.com/api/v I /print/math

“7X —2(4 -y Zﬂ.,a/ ‘7"“1 leegpf— =
7X—0 =/

— [

BT _
66. Find the slope of the line that goes thrﬁugh-th{e ,gjven points. ﬁ? =

(7 -5)and( 86) ﬁ7_ l‘r——?"]’
¥

7))

Y

-2

I N

KT

Selec‘ thJ correct cholce below.and, |f necessary, fi f Il in the answer box to complete y%ur choice.

O A. Theslopeis
) B. The slope is undefined.

. (Simplify your answer.)

1

Answer; A, The slope is e . (Simplify your answer.)

B
19 of 43

—_—
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mx+h
7 —~1 L(a-gl é

y=-2x+9 (:E\Jﬂ(’: @ ‘7
Select the correct choice below and, if necessary, fill in the answer mplete your choice. b )
j - — X9 (0/_.___

67. Find the slope of the line.

() A. The slope is

_) B. The slope is undefined. | f/:,ﬂ(:-_— i v~ [(,‘,w ya -

Answer: A. The slope is =2 [

68. Find the slope of the line. ,7/% —4q j ’"7{'— 63 "'"7‘»<_
7x -9y =63 —9 j Z63—7x%

Select the correct choice below and, if necessary, fill in the answer box to cornplete your choice.

& | 1 - 6 3 — l X

) A. The slope of the ling is . {Simplify your answer.)

() B. The slope of the line is undefined. 7
j 1:-—-"'-} uy g X

. (Simplify your answerm

g N _.,__.———'—'_'_'_._'_._._ - T

69. Solve the following equation for y. ) 7 3 ( ( ( Cf))
y-7=3(x-(-4) 7 7 f}()(.—-{-(f)
y= (Simplify your answer.)ly -~/ = S ~F { (.

= 3y A LT

‘1 = 3¢+ 17

70. Find the slope-intercept form of the Ime whose slope i |s 4 and that passes through the point ( 2 6)

The equation of the line is j Vl ™ ()( ) 7,__ / Y}('ff",‘é

(Type your answer in slope-intercept -intercept form.) )

—(6) < c/(x»-— (—)
Answer: y =4x+ 14 %,—‘6 -—Lf(s("f'l_) ) V)( f/Y /

O V= NN -,

71 Find the value of x2 - 4x +§ for the given value of x. { ""' Y )('f) -

x=-3 (—-_3,) — Y(-3) £S5

The value of the polynomial for x= -3 is | . (Simplify your answer.}

(3)63) —H3) A=
. Tt ltrs=
2|5

26

E T e 5/132019. 8§31 AM

Answer: A. The slope of the line is

|~

Answer: 3x+19 7

Answer: 26




MATHFIESTAPRETSH 50MD-Alfredo Alvarez https;ixh -pearsoncmE comrapi/v] /print/math
i te

72. Determine whether each ordered pair is a solution of the system of linear equations. L
:i2x y= 4\) (87 G) Suis{_ (3/ ) S\A >A

r29y-2 2(3)~(2) =

b (32 ?cgy—m)ff g—z_zV’
a. Is (5,6) a solution? / O(;—’_67: C/G—Uu {/( B C./ < V G"'OJV/
S — (3)+9(2) =2 |
o (9 +(6)= ¢ 1= 2
b. Is (3,2) a solution? c— s <) \l e?
O No gﬁ__“—;zl 2= 2 A
O Yes B o d
Answers No
Yes I\\_ (rf 5

- e —

— =
73. Solve the system of equations using the@oﬁ methci)d.

e

('3'))-(—'] .
39ty =
391/ 9 = 7

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
e
¢ 7 |
=y : ( 6 l )
v .'l. / el

. {Type an ordered pair. —

x =3y

(O A. The solution of the system is ) . {Type an ordered pair.)

() B. There are infinitely many solutions; {(x,y)|x +y =8} or {{(x,y)|x = 3y}.
() €. There is no solution; {} or @.

Answer: A. The solution of the system is {6,2)

- 7 S

B

74. Solve the system of equations by the addition method,

{ 5x —);35\
Bx+y =29~ '

IX=Y =iy
b9 =29

[lefo Gy

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. / l x - S/ (./

() A. The solution is . {Simplify your answer. Type an ordered pair.)

) B. There are infinitely many solutions; {(x,y)|5x =y = 15} or {(x,y)|6x +y =29}.
{) €. There is no salution; {} or @.

Answer: A. The solution is (4,5) . (Simplify your answer. Type an ordered pair.)

B _ SubmiE A
SCY¥)—95 1 -1
ZO"‘ /s / /[

. /Zd 77(dr/S'——Z/J

Mafay | o

5/13/2009, 8:21 AM
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- S Oy T33O
75. Solve the system of equations by the adﬂrn method. S /(’— / 7 3

~5) M Yx+r09:=3% | =7
X+2y=6 sj - 2
({2x+5y=16 )(1 AX+O0= A '

(O A. The solution is _ . {Simplify your answer. Type an ordered pair.)

() B. There are infinitely many solutions; {(x.y){x + 2y = 6} or {(x,y)|2x + 5y = 16}.
() €. There is no salution; {} or @,

. 8 = v == - — L S L
2 T 5.5
76. Two numbers tc@lj:a:_a d have a dlfferencépf '11.-Find the two numbers.

The larger number is , and the smaller number is

’ ﬁ
Answers 22 Z 4 / , )
1 -
X =
e — e (2_
77. Use the product rule to simplify the expression. Write the result using exponents.
[ &L
(-9m®n®) (am2) — 3 G m 61
(-om0®) (am) = '- 7,7
Answer. - 3gm’ n?
I = A B e e Smum = e o i —

78. Use the product rule to simplify the expression. Write the results using exponents.

(a2") (-82") () = ((f_z'\) (""6%7) @_g})__

NF7+3

@D gy 2 -
- 2
Answer. _ o4z ,.__2 zf _g -

&%,
_._,---"",/

_‘H‘

79. Use the power rule to simplify the expression. ( ’[ b'/

(8)

@)’
GO —

(Simplify your answer. Type exponential notation with positive expo

Answer: 56

77 afd3 5/13/2019. 8:21 AM
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80. Use the power rule and the power of a product rule to simplify the ge;pression. (f 'y
ay 5
(2¢°)
9)3 —
(2¢%)° =/ l = 2 1 (5) Q

Answer: 35443 2 < @

——————

"
P
L

q(s)

81. Use the power rule and the power ofa product or quotlent rule to simplify the expressuon

(- 7a bsc)

(-Taabsc) 22

/,

— —

83. Simplify the expression, '5 L( C

Answer: 513

_—“-_ﬁ_____-_—ﬁ_-_-_-_-_'_'_‘—‘—-—‘

23 0f43 5/13/2019, 8:21 AM
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B4. Simplify the expression. Assume that all bases are not equal to 0. )< L ( ‘} -
o'y’z ‘7 )( i g J ﬁ 7 N
> am
e Cax®T ™
ax®y?z & -1 b~

e — 9 )(L 7 &
Answer: g2y O( )< xj' Z

Wr—— ff__\.__ __.-_-__:
85( If P(x) = x? + x+ 3, find P(G):._/}' //J/ (é) »f/{/ 7 3
pn——— VRN (I (7 7“/5 3 (A= ’\’
VYR 36+6T 3
(6] e+

86. Simplify the following expression by combining the like terms. o
o xRS

Answer: 45

-7a%-Bab+7b% - 3a -6ab+3b2 = /Oﬁ —l&O\‘D ’f'/Ulv

-?a -Bab+7b -3a -6ab+3b =

Answer: _1032_123?_11_09_2___ e

o s T W 5
674‘67——‘/'{‘017“3‘

(6y?+6y-4) ~(~oy+3) = .

( 8y° +6y— 4) ~{=09y+3)= ! {Simplify your answer.) e L7 ,.f—/ {7
Answer: gy? 4 15y - 7
'_'_"-h__,_‘__________.._-—-—'—'———-_._,___‘_‘_-___-‘_'_'____ -
88. Add. - —cy y

(-ay2-7y) + (&2 +y-3)

(-ay?-7y) + (6y2 +y-3) =I | (Do not factor.

Answer: 2y2 gy -3

_—

74 nf 43 5132019, 8:21 AM
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89. Mult 7 T v > -
umff-\’ﬁ—\ /_Sfj(_fé)(—f?/'—Sr)(_l'VZ:—

(c+7) (=5 v8) =

(x+ (s —5x+6)-ﬂ7)( — S'X 7\‘7 )(m
Answer: 4 4 753 _ 5y? _ 29y + 42 -

90. Multiply m\ ¢ 3 3 2 — ,/
(@ +ox-4) (3 -9x+4) = 3 X =G Y s S 2o =
5x-4) (3¢ -9x+4) 9 K=t [vX — (5K 28K —(LX £ 30¢~( =

(x +5x ~ 4) (3x -O9x+ 4) l I {Simplify your answer)

Answer. 3,* 4 643 ~ 53y + 56x — 16 (3)( - GK — 3 —(' 56K '_/(-‘\h)

e

e e —— ——— ———— _?E"‘"‘-.‘ =

91. Multiply. _ 3>( ()( —t7 )( e ~

-3x(x2+7x-4) == —
_3x(x2+7x—4) =r_7(5implify your answe& 2 ! X "f/Z “ -)

Answer: - 33 - 2152 + 12x

92.  Find the area of the triangle.

6x inches

|
.

Answer: 24)(2 -9x A»

25043 5132019, 8:21 AM
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93. i omial that describes th
shaded region: 3’@"“-
@/ 3 N+ 5

R
94,

@ — A"

X +

5 A L
Theareais| . (A/‘d:j?)"(_“-) — C?) f’3) -
) - (9/

NSWEr: 42 4 10x + X’L"{_S’)(’(’Y)(’fz\- %_/—\3
A X%+ 10x + 16 Q)(’L‘F (oo = 5 -G = )_(_7’-/J)_( 7‘&

—— iy = =R

—

oz (TP =
(v =38y - 1) e B
6(y - 3By - 1) = G ( 3‘7 -—lj “’Z‘Fj +3) <
G C_ZH} —25Y 4+ <

N T D e T .

95.

el
==

Multiply.

x+7)?

(x+ 7)2 = I—._—| (Simplify your answer.) (K’f/)) (/(—_f/]) )

Answer: 42 4 14y + 49

96.

Multiply. W " L G —
(a-6)(a+6) (d GM—F ) —

(a-6Ma+6)= | (Simplify your answer.) A t _/é/c\- —36 =
L B ;
Answer: 22 _ 3¢ Jk — ;L)

97.

7¢ (x5 y8) ~
= g \
SO F— Jex S —2 x| sEx o)
J«/

Answer: 14,5 - 21x* + 56x2

Multiply the monomial and the polynomial.

75 (2x3 ~3x2+ 8) g

M nf 43

5/13/2019, 8:21 AM
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98, Use a special product to multiply, if possible. Cfé/?/g)
(5b - 2¢)° ' @-[9 Zw lC)m

Choose the expression equivalent to (5b-2c)2. 2 < R /o é c - /Q b < _f- (f C

O A 2502 + 42

;ZS'ér —-20196 —+vctl =

O B. 252 + 20bc + 4¢°
O C. 25n7 - 4¢? .

©B. 5p?-20bc+4c®
) E. none of these

answer; D. 25b2 - 20bc + 4c2
"‘\-._,_______\_-_

99. Simplify the following expression,

5-3

57 3 = (Type an integer or a simplified fraction.)

Answer; 1

125

B

100. Simplify the following expression.

gt = (3)7-

yew 71l Bt
[5] i {Type an mteger or a simplified fraction.)

Answer. 27

B ——

101, Simplify the expression. Write the result using positive exponents only. Assume that ail bases are not equal to 0.
-4
Ty

-4

fe
e E—

~ e’

\W\\I
4

Answer: 1

A F o
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102.  Simplify. Use positive exponents for any variables. Assume that all bases are not equal to 0.

- T~
o ! < o [ =
. = —_— = e
K™ 9 k —-‘i l < )
- ‘| -
k : ! (—L
— = (Use positive exponents only.) r( w/t
k T
Answer: 8
——— _-_-_-_‘_'_-—-—.___‘_
......... — —'.-—-..__L__\_\_\_‘_\_‘_-_-_
103.  Simplify the following expression. Write the result using positive exponents only. 3 ’_ l
4 -4 -1.2 - e -c{’{'L,._ e e
(-2 (ax ) = —gx ‘j - )( j =3
4 -4 -1,.2Y_ . . . -
(- 2x'y ) (4x y ) = {Type exponential notation with positive exponents.)

Answer; Bx3

2
y
A - i v o B e i S T e - e ——-—-_.__-___“___-___'
104. Simplify the expression. Assume that all bases are not equal to 0.
~3 ( .-q} 2 (~ V/ / A - f
(a=%2) "~ 4 - é _ é
- 6\ - a =
- -4
(a 3b2) =| [ {Use positive exponents only.)
Answer: a12
BB
—— ——— R —
e
105. Write the number in scientific notation. -7 7 O O O —_

77,000

77.000= l {Use the multiplication symbol in the math palette as needed.) 7,. 7 OO @) X’ , O -

Answer: 7 7 104
“‘-._\_\_‘__m_'_,_,_

106. Write the number in scientific notation.

0.00000193 0, 00 OO__‘Z_E_Z—L
0.00000193= |

— 6
{Use the multiplication symboal in the math palette as needed.) [ . 7 -3 )( / O -

Answer. 1 9310 -6 /

_—— S —_

_-‘-_-_-_-_-_--'_""‘-—\_

—

28 of 43 5/13/2019, 8:21 AM
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107, Divide.

15p5 + 20p°

Answer: 3p5 o 4p4

S —
108. Find the GCF for the given list.

27,45

The GCF is

Answer: 9

109, Factor out the greatest commaon factor from the polynomial.

S5x+30

5x+30= | (Type your answer in factored form.)

Answer: 5(x +6)

110. Factor. / GX ‘? ’_— y(f)( Z-?
16xy - 54x2 .
16xy - 54x° = : {Factor completely.) 27( ( 57 7 —Z 7 )C) - )

Answer. 2x(8y — 27x)

111. Factor the trinomial completely:

x% -2x-63 =

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. x2 -2%x-63= (Type your answer in factored form.)

B. The polynomial is prime.

Answer: A. x° - 2x - 63 = (x+7){x=9) i (Type your answer in factored form.)

M Af Al 5/13/2019. 8:21 AM
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112. Factor the following binomial completely. s _.1?._‘-__( ?’fé} /4‘:6/;/
1962 - 1y [ 76x* =gt

Select the correct choice below and, if necessary, fill in the answer box to complete your choigf.
7 ¥X) Z__ ( g - —
(#x +99)((P—77) =

Answer: A. 195x2 - 81 y2 =|(44x + 9y)(14x — 9y)| (Factor completely.)

MATHFIESTAPRETSI150MD-Alfredo Al / T hapsieitiorod. comiaify Vprintimatl
3 redo Alvarez py ﬁf n7 ps://Tiregprod.pearsoncmag.com/api/v |/ print/math
(A

A 1'36)(2 - 81 y2 = {Factor completely.

B. The polynomial is prime.

113. Solve the equation. //."‘9 X —% =0 Orc X- 7 =

(x=3)x+2)=0 -"‘3‘/’3':07‘3 O/L /\/‘F’Z"L: 0—

o e Il B

(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

Answer: 3,-2

114. Solve the equation. /7 | 3 ){"‘:.—O OA )(;? = — — o —_
3x(x-9)=0 ;_/\_: ,)C?L o )("%ﬁ/:b"""f

X= ' (Use a comma 1o seéarate answers as needed.)

Answer: 8,0 @ 0 d—

115. Solve the equation. /) 6 K—m ~ 0 " O& Z—Z—_EE_C‘)_-_-_'_'——_‘_—'———_____
(6x+7)}2x-3)=0 G;(,(—?,_'y = OK l)(-f”i 3T U8

N ok 2x=3

(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

.= = 3
[ Y N P

Answer; 7 i 6

N <l > R YA

116. Solve the equation. ( Y% ___g)( < ____f):a /555
X2 =11x+24=0 /Iﬂ(f} =0 ort )(-—- ;= ©
X-3-+7 Z0+3 gn X-E+Fc078

(Simplify your answer. Type each salution pnly once. Use a co nswers as needed.)
o X¥=7¢ |
Answer: 8,3 \

— e _—_—___-___H_'_"""'—\__

anoLfan 5/13/2019. 8:21 AM
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g o= /

117. Solve. / {'__3 ) on )(—f' —

x°+2x-15=0 )("}'(") ‘—U”'S N X’f;{"}’u(.)"‘i
x= IR /\/"

(Sumpllfy your answer. Type each ution onfy once. Use a comma swers as needed.)

Answer. -5.3

118. Solve the equation. /7_? Y(X/L"‘/D.(f/é-j:ro
x3 - 10x% + 16x=0 4 ( )(_z)c(-—ﬁ —J
o (FZe> ot xr=o 0t X-

(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.

X2 L =97 o
Answer: 0,28 @

119." Solve. N | /:5; (& —{-—fj (5(___\

2x? - 9x-35=0 IXts=O o )(——7 =)
] XSS0oT Q4 X767 =Ty

{Simplify your answer. Type each solution only once. Use a comma to separate )
s oL X=)
Answer. 5 Z)( - 5

_57

T L =
—_‘_'_'_ @
120. Find thg/domain of the rational functi 21 A )( / C
L — L—
C(x) == )" (%)
X" =16 o
( X+l - ‘7‘)—« Q
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

eg=o ot X=¥=
) A. The domain is {x | x is a real number and x #

(Simplify your answer. Type an integer or a fraction. Use a comma to separate answers as 4 /( '-((-,é(/ ‘—U?'Q/
needed.) X——f Y~ U "'9/ d A

The domain is {x | x is a real number).

rﬂ
w

\.

Answer; A. The domain is {x | x is a real number and x # -4.4 P

— {Simplify your answer. Type an integer or a fraction. Use a comma tg_ae/ arate answers as needed.)
l_"_'_'_‘—-—-—-_._ A __.__.--ﬂ:

e ([ 0l e 15

T

il of 43
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121. Simplify the expression, J,L—

o 7 K -
x2 - 3x 70 l ()(7/7
<
Select the correct choice below and fill in any answer boxes in your choice. ) 6( -
Xt //0)
- (X
OA =

% (Simplify your answer.)
x -3x-70

() B. The expression cannot be simplified.

x+7

Answer. A, ——= (Simplify your answer.)
x2-3x-70 __ %10

 ml i
__,_.—-—-"_"_'_'_-—-_-.-_'_

. T D
122. Find the product and simplify if possible. }’)( P Z’ 3 Y __ 5_ ‘2' j
—— /

5x 6y

L —
oy ¢ Y,
y2 7 = 7 :/9 7 ;}< K
/ 30
5x Sy = —
< ! {Simplify your answer. Use positive exponents only.) .7j
y
Answer: 30
7y

k"‘“—.

= L T . :
— X+Y _
123. Find the product and simplify if possan?,, © —— T

xX-64  x+4 LGy -5t X

x2-4x-32 X

2 X+ (8 & T _

2 ax-32 *x T— (Simplify your answer§ %(7@/ (5( )

Answer: x+8

320f43
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[t 9

e

182 ax’y’ — 75’ : 5)(2'7f

y 0 : :C g _

2 .25 Z)(g)/ o 1 -

16 + By = (Simplify your answer.) ‘j 5 /ﬁ ) .{ 7
29

124. Find the quotient and simplify the result.

Pad

ys 9
—_—
Answer. 18 C oy
= Dy
y
125. Add the rational expressions. 5’/}7 ” 7 oy .
5m 7m il 2 A ZA
2n " 2n h
/"
5m 7m T (simpl 7 n [
on + o - (Simplify your answer.)
(Zm —
—‘_'_ﬂ ——
Answer: 6m 27
n
126. Subtract the rational expressions. ?{ ’f"y — ( G )(,_f /5 ) B
7x+9 6x + 15 — 7 “
C-Bx+12 X2 -8x+12 X —PX T

7x+9 Bx+15 =[ (Simplify your answer.) w <.

xz-ax+12-x2-8x+12 YL,-g)(-f:/"L/
Answer: 1 )("" 4 B —
y/’l_‘f—i 7/""i T

x-2

SA39016 R71 AM
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Z(R)- = (a) = ()

127. Solve the equation. _{ C
i e C_ -
28e 2(a)y — S (V) 9
. 26.— S T TG
Select the correct choice below and, if necessary fill _hVeanswer box to complete your choice.

() A, The solution is ) 2= G+ <
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
() B, There is no solution, Zc\ ,_6] & < % o T & aringas e
- Tlas s
Answer: A. The solution is -= ! SN
7 = =7

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.

128. Solve the equation. ([.( )/'5) = (7/(31) Cross Pt oA~
X Gy — Y5~ —qqu e
4 79 — /f‘/s" ~ Ty

T B )

Select the correct choice below and, if necessary, ﬁll in the answerbox to cgr:’plete your choice.
Y

I — X = SXFY¥S—
O A. The solution is : X = Fs—
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

) B. There is no solution.

Answer: A. The solution is 9 .

{Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

129. Solve the equation. 7 (7/!)) -+ f?fj) I [f-;tl )
% 6(7) “+2(9) Z7(')

Select the correct answer below and, if necessary fill in the answer box to complete your choice.

63 +49) <
OA. y=  (Useacomma to separate answers if needed.)
() B. There is no solution. }/.Z,j — '"f 7 —G3

Answer: A.y= (Use a comma to separate answers if needed.)

~n

9
—+
Y

_—‘___-_-___‘_‘__h‘_*'—-—-—.__

id of 43 137019 871 AN
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130. /Graph the function. /,—:'
Ll
fix) = x2

Choose the correct graph below.

%‘S%L( ~(FI )~ = = ©

(o=@ = (o)~ = ¢~ =
Ao =0 = - =

35 0f 43 5/13/2019. 8:21 AM
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132. Araph the function,

f(x) = 5x - 2

Choose the correct graph

133. Simplify by factoring. Assume that all variables under radicals Eepresent n?'nnegatwe numbers.

woe o5t = s o le SIX%

Select the correct choice below and, if necessary, fill in the answer box that completes your choice.

O A 25x° =
(Type an exact answer, using radicals as needed.)
) B. The square root is not a real number.

Answer; A, 25)(6 = st

{Type an exact answer, using radicals as needed.)
—~— e S

BT : -
134. Find the cube root, ) j /
< = [’ /%
Y343

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
OA 333 = 757,11 /7
Yyaa3= e s Z ) ) / ,

{7} B. The cube root is not a real number.
7 w

Answer: A. ¥343=] 7 | ,kcfj ) %

s r -
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135. Simplify the radical,

49 o
64

Select the correct choice below and, if necessary, fill in the answer box to complete your choice,

A, ]ﬁ -
64

{Type an integer or a simplified fraction.)

B. The square root is not a real number.

49
Answer: A. i

|~

(Type an integer or a simplified fraction.)

https://xlitemprod.pearsoncmg.com/api/v1/print/math

e —

R340 R AM



MATHFIESTAPRETSIE50MD-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v I/print/math

136.
Identify the domain and then graph the function, using the X f(x)
table to the right. 1
f(x)= X =11 12
15
. . . 20
The domain of the function f(x) is 5
{Type your answer in interval notation.) ~ A OB

Complete the table to the right.

Graph the function. Choose the correct graph to the right.

e W
Answers [11,00) [&“ (,.-(
ROEYCTE
_F(l) Jrsr1 =
to) | [Zf”/( -

J‘

p—y

3

e T S = s

- --'"""--.._______,_._.-'—""__-"_'_'__-- .
1;1‘7-.?}%-»——-\ g 5/13/2019, 821 AM
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137. Use radical notation to write the expressmn Simplify if possnb (p' / _‘f /
‘rf
' 37 2
) < N o
[625 T ‘f S’ z(

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

1 @ﬂm‘“ Y5200 -
- 81)* — e
on (2"

(Simplify your answer. Type an exact answer, using radicals as needed.)

() B. The answer is not a real number.

P
?3
W

81 3
Answer: A, [32*5*] = 5 (Simplify your answer. Type an exact answer, using radicals as needed.)
—— =
e RSSFencs = — \f ";‘c "3 S"‘?”f"‘_{"{ — /UZ-/' .
138. Use radical notation to rewrite the expr?smn 'S“m_llﬁ if possmle @)(/) —
/o J 5 512
315 T '
1024 2 @_”3
Select the correct choice below and, if necessary, fill in the answer box to cg_gnﬂete your choice. (A 2’ 7
; o
- s
1024375 = 02 Y3t
(Simplify your answer. Type an exact answer, using radicals as neeged.) 7__([_(’.—#
) B. The answer is not a real number. = L %
e Z 2 b 2221 L.
Answer; A. 1024 =! 64 (Simplify your an@ answer, using radicals as needeu:l.)l

139, 7 { / />
Simplify by factoring. ( ’ 2 Tl T J/50 = C/ﬁ":f_ 5
1/36 2 (Type an exact answer, using radicals as needed.} L(—_—
Vec &< &_ﬂ
oy

nswer; Y S 3~
wes (ST D 1

— e e - _L

140. Simplify. Assume that the variables represent nonnegative real numbers. 2/ ?v/?__ ID L_ V\l
Ll =

Joato' ra |964’1 i

l 3
1}9a b’ : (Type an exact answer, using radicals as needed.) 3 a 19 é :
3
Answer: 3gp° Jb 3 G b

an maa 5/13/2019, 8:21 AM
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141. Solve. ﬂ - /L
x-8=4 )(,-%/?/: /67T f{;

Select the correct choice below and, if necessary fill in the the answer hox to complete your choice C
= /

X< Ve =

0 A. The solution(s) is(are) x = g_”/ .
{Use a comma to separate answers as needed.) (/ - (7/

) B. The solution setis @

Answer: A, The solution(s) is(are) x 'i . {Use a comma to separate answers as n@l}o A

e L 0F o ameere

T X7 W~ =T
s XAXA =7 -

Select the correct choice below and fill in any answer boxes present iry{rour choice.

XTl—9 A

OA. x= (Simplify your answer. Use a.comma 1o separate answers as ne :

4
() B. There is no solution. X"’LJ( I— 9 7 Z)( Gry TYL(G)-/

—(x<—97 Vi <~ (Tr-/
Answer; A, x= {Simplify your answer. Use a comma to separate answers as need d ) m h v /
e —

143, Multiply. ( Z—fé A J r 6 A D
(@+60(6+1) 9’«5 44 T 36A 6Al
(B+6i)(6+) = B+ FFA #6CA s

(Simplify your answer. Type your answer in the form a+bi.)

77 s te(—ids
Fgr YL —6= s
144. Use the square root property to solve (lhfejuitlon The equatlon has real number solutions.

)L w ’f /(—:
x-: ¢t = T

{Simplify your answer. Type an exact answer, using radlcals as need .Usea comma to separate answers as needed.)

Answer; 42 +44 |

(x+9)° =16

q o =Y ‘-r‘ 9 =
Answer; -5,-13 X5 -9 = "'?’J__ X 7-— -
- ‘D A
145 The area of a square room is 256 square feet. Find the dimensions of the room, o
e Y
The side of the room is feet long. % < 1756 X

Answer: 16 &—L: (ﬁ:’é

— T —raa010 821 AM
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146. Eva atedb -4ac fq/a 2,b=3 andc= -

https://xlitemprod.pearsoncmg.com/api/v1/print/math

\ (3)= 2 )Fs) =
e (dF&o =

(Simplify your answer. Type an exact answer, using radicals as needed.)

Answer: 7

147. Use thé.quadratic formula to solve the equatlon

e 3= ga by = “E'f’
W (30 N 3) =Sy M= T A “2
| m2+3m+2=0 2 Ci2 -'-Z o "
Azl b=3 (7L pa -mﬁT
im

(S é-hfy your answer. Type an exact answer-using radlcals as ne
' o

@Q @
#__ eﬁis‘;?_g ma to Wwers as neede
W“-g = —gj‘ b( N_S;CC-‘II M - =
Answer: -2,-1 — <

Za — yp =z ~3%1
4 Fl
148. Use the quadratic formula to solve the equation

b x2+ Bx +25=0
=t =4
The solutlon(s) |sgre )(-{;

(Simplify your answer. Type an exact answer, using radicals and i as neaded. Use a comma to separate answers as
needed.)

Answer. —4+3/,-4-3i

z . -
Yo —7EVIL Yz —¢ 4
-

5/13/2019. 8:21 AM
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149 Sketch the graph of the quadratic function and the axis of ¥
symmetry. State the vertex, and give the equation for the 20
axis of symmetry. 16
g(x) = (x+3)° -4 12
Use the graphing tool to graph the function as a solid curve ;
and the axis of symmetry as a dashed line, 4
What is the vertex of the graph? P S .,..,T.-”-1.1n.1”1-1-‘1-
20 16 12 B -4 ] 4 8 12 16 20
The vertex is [ . :
{Type an ordered pair.)
What is the equation for the axis of symmetry?
l {Type an equation.)
(G = (x ( )(—f’B) ”7
Answers o y ) (%ﬂ/ L/
7( ~ 4 -
G40) = (0
~Y
] g ={~ v i:/)
==
(/{ = -
r jr } (-—‘(/
20 3 20 j(,s) < (-3F3)
{—
! £n) = (9) V(
() ' A -
E-hsi‘ ﬁﬂ) c d
Lol 53 f::if(&?
— L
(-3, -4) j __,2) Tl '( - y 4
t_
x=-3 j(r_q_’)_‘ ('] &
S ] s~
j(/Z) R Sy
ﬂ s MR >
( —
- /"F
&‘\“ﬁ-.. it = —

12 0f 43 3/13/2019. 8:21 AM
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150,
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Sketch the graph of the quadratic function and the axis of Ay
symmetry. State the vertex, and give the equation for the 104
axis of symmetry. o
F=-x2+5 o
Use the graphing tool to graph the function as a solid curve 4-_
and the axis of symmelry as a dashed line. 2
The vertex is I r o - ; — ; ,x‘;
(Type an ordered pair.) [ 2' 24 e Bl IO
The axis of symmetry is . 4]
{Type an equation.) ]
5
-0~
B~ Xk
Answers » ¥ r /)’ _ F”) ey ‘ v
C ‘) o) = D1 5
/ 15&‘ ) ==(D+$
R4 (L4 @)»4”‘; =kl 7
R R I L A T T — £
o) = /'
e
- r?’c)) < / )/O) v
6
= o)< —(OFs~
ol
o) <07
(0,5) Z S — )
x=0

41 nfdl

5/13/2019, 8:21 AM



